
 

Homework 15 

Oscillations and the types of equillibrium. 

 

 

Problem: 

There is a solid ball with nonuniform density, so the center of mass is shifted from geometrical 

center of the ball. In the figure below the center of mass is shown as a red dot. Make a force 

diagram and show that the ball is in stable equilibrium in fig (a) and in unstable equilibrium in 



Figure (b). Clue: take a look at the total net torque applied to the ball with respect to the point 

of contact with the surface. 

 

 


